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       (adjective) is of two kinds:  
 

 
 
 
 
 

 

 

 

 

 

 

 

 

 
 

                        qualifies its man"uut.    

 
   E.g.: 
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                         follows its man"uut in four grammatical  
 

 

items: 
 

 

 

 

 

 

 

 

 

 

           Being definite or indefinite. 
           Number (singular, dual and plural). 
           Gender (masculine and feminine). 

           Case (marfuu", manSuub and majruur ). 

 

 

 
 
 

 

 


��
�
���	 �������	 does not qualify its man"uut.  
 

 

 

It qualifies another noun connected to its man"uut by a 

pronoun. This noun which   
��
�
���	 �������	   qualifies is  
in fact its faa"il or, naa'ib faa"il.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

'I�	����J�K������	  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The na"t qualifies its man"uut.   �K������	 is na"t Haqiiqiyy. 
 

 


��2��2�4��	 �������	 

 

2. 

1. 

3. 

4. 
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�
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na"t 

E.g. (1): 

man"uut
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But in:  
 

 

 

 

 

 

'I�	��� �J���	�K����Q �R6�S  
 

 

 

% the na"t ,�K������	  does not qualify  �J���'I�	 .  
 

 

 

 

 

It qualifies his brother. 
 

 

 

 

The meaning of this expression is: 
 

 

 

 

 

The student whose brother has passed... 
 

 

 

 

 

 

 

 

This is because the expression: 
 

 

 

 

 

'I�	����J  �R6�S�Q �K������	    
 

 

 

 

 

 

 

% can be reconstructed as: 
 

 

 

 

 

 

'I�	����J '�	�T�K���5 U�Q �R6�S    
 

 

The student whose brother has passed… 
 
 
 
 
 
 
 

And here  6�S�Q)�R(  is the faa"il of  �K������	 . 
 

 

 

 

�K������	        is na"t sababiyy.  
 

 

 

 

 
 
 
 
 
 
 
 
 

And 
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E.g. (2) Now consider this expression:  
 

 

 

 

��	�
��6���W����	 �.�  
 
 

 

 

 

 

 

 

 

 

 

 

 

 

Here ��6���W����	  qualifies the door. It is na"t Haqiiqiyy. 

 

But in:  

 

 

 

 

 

 

 

 

��	�
��6���W����	 �.�        
 

 

 

 

 

 

 

% the na"t ��6���W����	  does not qualify �.��
��	. 
 

 

 

 

 

It qualifies the lock. 
 

 

 

 

 

 

This is because the expression:  
 

 

 

 

 

 

 

 

 

 

 

��	�
 �.� ��6���W����	  
 

 

 

 

means: 
 

 

 

 

 

 

 

�.��
��	  �X��)Y U�T'�	  
 
 
 
 
 
 
 
 

The door whose lock is broken… 

na"t 
man"uut

�Z)��[)\ 

�Z)��[)\ 

�Z)��[)\. 
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                         ])��[)\)�R(    
 

 

 

 

 

 ��6���W����	 is na"t sababiyy. 

 
 

 

 

 

 

 

 

 

 

 

 

 

   
��
�
]���	 ��]�����	  follows its apparent man"uut in two 
things only.  

 

These are: 

 

being definite or indefinite, e.g.: 
 
 
 
 
 
 
 
 
 

�����_'����, U���6���, �5����̀ ���6�% .  
 
 
 
 

��	 )�'�������	��������a ��̀ ���6�% )��5�6����.  
 

 

 

 

 

 

case, e.g.: 
�Q��'I�	 �d����J��	�X�	 �Je�R6�S�Q   

  
  

'I�	 �f��5����J��	�X�	 �J�R6�S�Q .  
  
  
  

�� g�h���i �j)2�& k'I�����J��	�X�	 �J�Q �R6�S.  
 
 

 

1. 

2. 

And here the word 

 

is the naa'ib faa"il of .��6���W����	  

DrVaniya.com 



 6

With regard to gender, it follows its faa"il or naa'ib 
faa"il, e.g.: 
 

 

 

 

 

 

 

 

�����	 �R�T�̀  �d������� )���6���W����	 ������le��+  
  
  
  

'I�	 �d��Q �J������	)��4��� �!�S)Qe�Z  
 

 

With regard to number,  
��
�
���	 �������	  remains always 

singular, e.g.: 
 

 

 

 

�J���'I�	 �Y����	�d�Q �R6�"��"��/)Q 0   
  
  
  

'I�	 � ��
�����	�d�Y��"�Q �6���̀ 	�"��/)Q 0 ��  
  
  
  
  

mI�	'( �.�Y����	�d�"n �̀ �o��"��/)Q 0 �p�  
 
 

 

 

 

 

Here are some examples of  
��
�
���	 �������	 : 
 

 

 

 

q�X�S�Q ����"����	 �R�T�̀  �d�, ����� �����X�2�p���'r�	��+)��̀ �Q s.  
  
  
  
     
  
  
  
  
  
  

  ]��	 �R�T�̀  �d�, ������X�S�Q ����"�� �����X�2��+)��̀ �Q �p���r�� ��!'�	[.  
 

 

 

)t��u��	 75( 

Our Lord! Take us out from this town  
whose people are oppressors. 
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��	 ������X�!�i	 �J�!)W���&�	��+�5����" .  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

]���	 ������X�!�i	 �J�!)W���" ��&���� ��!'�	��+�5�.[  
 

 

 

 

 

 

 

 

We bought the books mentioned in the following statement. 
 

 

 ���!������� 0 	�T�̀  ���X�Y�����2��	�X����	 ��+�&��6�%.  
  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

]���� 0 	�T�̀  ���X�Y����� ���!�X�& ��!'�	��+�&��6�% ����	.[  
 

 

 

 

You have mentioned this in your letter whose copy is 

attached. 

 
 

 

 

��	 �R�T�̀  ��� �������5 � �Q ����X�5 �, �����X�$ ��6���W����	�"�+�"��.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

]��	 �R�T�̀  0 �������5 � �Q ����X�5 �, �����X�$��+�"��" �X��)Y ��!'�	.[  
 

 

 

 

 

 

 

 

 

We don’t want to sit in this room whose door is broken. 
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�&��'2�� ���X'r�	 	�T�̀  �����_/��������	�Z���"	�6�* .  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

] ���X'r�	 	�T�̀  ����'2���&�Z���"	�6�* ���_���5 U�T'�	.[  
 

 

 

I received this envelope whose stamps have been removed. 
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